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Q.1(a) In the frequency distribution of heights (in cm) of 500 students, the frequency of the class 

interval 130-134, defined in terms of class-limits is 40. Find, for this class, (i) class-
boundaries, (ii) class-mark, (iii) relative frequency, (iv) class width and (v) frequency 
density. 

[5] 1 

Q.1(b) Given that the cumulative frequencies of less-than type and more-than type corresponding 
to a class interval are 320 and 230 respectively, when the total frequency is 500. Find the 
frequency of the interval. 
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Q.2(a) If a variable x takes the values 1, 2,…,r with F1,F2,…,Fr as the corresponding more-than 
type cumulative frequencies, then prove that 𝑥̅ =  
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Q.2(b) A student obtained the mean and standard deviation of 100 observations as 40.1 and 5.0 
respectively. It was later found that he copied 50 wrongly instead of the correct value 40. 
Find the correct mean and correct standard deviation. 

[5] 2 

    
    

Q.3(a) A variable takes only two distinct values a and b, each with equal frequency. Find the 
second, third and fourth central moments. 
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Q.3(b) If x and y are uncorrelated variables and their standard deviations are 3 and 4, 
respectively, find the correlation coefficient between 5x + 2y and 2x – 5y. 

[5] 3 

    
    

Q.4(a) For 5 pairs of values of x and y, the values of x+y are 24,28,30,33,35 and variances of x 
and y are 6 and 2 respectively. Calculate the correlation coefficient between x and y. 

[5] 3 

Q.4(b) Define multiple correlation coefficient and partial correlation coefficients. [5] 5 
    
    

Q.5 If x and y are two correlated variables with correlation coefficient r and having the same 
variance, find the regression coefficient of x on (x+y) and that of (x+y) on x. Hence find 
the correlation coefficient between x and (x+y). 

[10] 4 
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